12017-18

Summary of Award Roll PMS for SC students for the year 2017-18

Kanya Mahavidyalaya Kharkhoda

Nodal Officer Mobile No.: 9466515235

kanyamahavidyalaya@yahoo.com

Nodal Officer Email : drseemant15@gmail.com

1416974179

ES

	No. of Students		dents Share	Total amount of Student Share	Total Amount of Management Share	Amoun
Boys (Day Scholar)		Maintenance Allowance	Fee Paid by Students (if Any)	(1)	(ii)	Claim (i+ii)
Boys (Hosttler)						-
Girls (Day Scholar)B.A-1, B.Com-1, BCA-1	87	271250	0	271250	1123660	13949
Total (a)	87	271250		271250	1123660	13949

FOR RENEWAL CASES

Sr. No.	Particulars	No. of Students		idents Share	Total amount of Student Share	Total Amount of Management Share	Total Amount Claim
1	Boys (Day Scholar)		Mainenance Allowance	Fee Paid by Students (If Any)	(al)	(b II)	(a+b)
THE OWNER OF TAXABLE PARTY.	The state of the s						-
2	Boys (Hosttler)						-
3	Girls (Day Scholar)	46	4 72222				
	B.A/B.Com/BCA-II	40	173880	0	173880	419740	593620
6					+		
	Total (b)	46	173880	0	173880	419740	593620

Boys Girls	+					
	133	445130	0	445130	1543400	- CORDERS
Total Amount of				1	1040400	1988530
Scholarship	1 1	1				

Stopiesto Higher Edition on Haryana

																	1									
	7							Village				T					1				T					
	- 1							Ferozpur								~										
	1							Banger	1	1						3										
,	11	,	1					Near		1						19										
	M		B.Co				Achak	Hanuman	conina	13140		ОВ	ORBC010	0000-		Attendance									080920400	ORBC0100
(/	-	Chaman	1		7/0/2000		Ashok		Sompa	2	DAY	c		0809215	989414	78						5600	10000	овс	02310	809
1	F	Chamar	m-2	25	7/9/1998	60000	Kumar	Mandir	t	2	DAI	+	14/4	1017565	415062	10/07/16	300	12	3600	800	4400	3000				
																20/01/	i									
			1			i		Village				1								1						
								Pahaladp									1						1			
					1			ur Kidholi				1														
								teh				1	1													
								kharkhod				1	1			76										
								a distt	1			1				-									080920400	OPRC0100
	1	ł	B.CO					sonipat	sonipa				SBIN0006	3250770	754547								40000			809
Nanisha	a F	Dhanal	M-3	34	9/3/1997	2E+05	Karmbir	haryana	t	2	DAY	SBI	875	1979	264520	14/07/16	300	12	3600	800	4400	5600	10000	OBC	02310	000
								H No 256								24,5.,20										
								Khatik	1	1																
								Mohalla	1	1							1									
								Ward No	1																	
								10								79										
		L	B.Co		10/4/199		Mahender	Kharkhod	sonipa	13140			SBIN0006	3252672	794104	1 ' '				1	1				080920400	
Neha /	/F	KHATI		31	4 7	1	Singh	a	t	2	DAY	SBI	875	1359		09/07/16	300	12	3600	800	4400	5600	10000	OBC	02310	809
1	-	1						Ward 12								00/01/						1				
								Khatik															1			
								Mohalla						6686000		74.5					1	1				
							Ved	Kharkhod	sonipa	13140		PN	PUNB066	1000337	322848	14.5									080920400	
Sonia	1	Dhana	k BCA-	3 172	3 5/2/1996	72000	Parkash	а	t	2	DAY	В	8600	66		12/07/16	300	12	3600	800	4400	5600	10000	ОВС	02310	809
301110	一;	-	1 2 2 1	1	1			Village							-~											
	- 1							Rohat																		
								distt		1		1				76									1	
					26/10/19				SONIP	13140			SBIN0008	3271810	661570	10									080920400	ORBC0100
Sarita	1	Chama	r BCA-	3 173		48000	Bijender		AT	3	DAY			6518		14/07/16	300	12	3600	800	4400	5600	10000	овс	02310	809
Surreu	+	-	150.1	1				H No				-			-											
		1						1053/22							-											
		1						Baba						-												
1								Colony					1													
								Near Fly						2		[
1								Over					,					1						1 200		
								Kuber								İ										
								vatika							-	!										
1	1			1	30/12/19				sonipa	13100			SBIN0004	3394024	941526	179									080920400	ORBC0100
Neha	/ _E	Chama	BCA-3	1717	1	96000		haryana	t		DAY				792374	12/07/16	300	12	3600	800	4400	5600	10000	OBC	02310	809
	+	Citatila	DOM	1,1,		30000		,	-		JA.,	35.			. 323,4		1	-	1000	1500	17700	15000	+10000	1000	102010	1
0			M.A	j				Village	sonipa				SBIN0006		0	84								1.0	280920400	OREC0100
Asha	F	Dhanak	(H)-2	1489	9/5/1990	90000	Kumar	Rohna	t	2	DAY	SBI	875	2287	448556	12/07/16	530	12	6360	800	7160	4840	12000	OBC	02310	809
	1																						-			

ind SC ses nail

у,

alay1

																1				4)						
						T	Γ	Ward No	T		T					, or	9				$\overline{}$					
		ı						1 Near								111049										
	11							Chota								Merolo							1	1		
	1							Shani								i	1								80920400	BBCOADO
	H		M.A		14/3/199		Subash	Mandir	sonipa		1		VIJB0008	6506100		80										09
	F	Chamar	(H)-2	1484	2	72000	Chander	Sonipat	t	1	DAY	VIJ	312	0256	590237					800	7160	4840	12000	OBC (72310	-
								Ward No							472332	14/07/16	530	12	6360	800						
1								10 Khatik																1	1	l
								Mohalla			1					24				_					080920400	DRRC0100
1 2	-	1	M.A(l i	16/7/199			Kharkhod	sonipa			ОВ	ORBC010	0809212	344076	82							18000			809
Priyanka'	F	KHATIK	G)-2	1532	2	72000	Subash	a	t	2	DAY	С	0809	1027419	315728	15/07/16	530	12	6360	800	7160	10840	18000	ОВС	02010	
															- 7.20	15/07/10	550		0000							
								Ward No																1		
								13 Near																	1	
								Situ Wala																		
								Kua								76									080920400	ORBC0100
			M.A(11/8/199			Kharkhod	sonipa		1	-	CBIN0280			,					7460	10840	18000			809
Ritu V	F	Chamar	G)-2	1540	0	30000	Azad	a	t	2	DAY	CRI	399	832	741074	13/07/16	530	12	6360	800	7160	100.0				
																									1	
	1							Village								-	i I									
,	Н							Lahli distt		12441		OR	ORBC010	1474210	7267	177									080920400	ORBC0100
			M.Co	1	10/5/199			1	sonipa		DAY		1474	1031397	1036744					800	6160	10840	17000	овс	02310	809
Manisha	F	Chamar	m-1	143	5	60000	Budh Raj	haryana	t	1	DAT	-	1474	1031397	193626	04/07/16	530	10	5360	800	10.00					
								Ward No									1			1		1		1		
								9 Mahavir					4											1		
								Colony																1		
					40/0/400			Kharkhod	conina	121/10			CBIN0280	2185528	276657	76	į			1					080920400	ORBC0100
l	_		M.Sc-	1	10/8/199	72000	Naresh	a	+		DAY			966	480648	14/07/16	530	12	6360	800	7160	15840	23000	овс	02310	809
Anu Rani	F	Dhanak	2	1816	3	72000	Ivalesii	a			-	55.			1000-10	14/0//10	1000	122	0300	1000						
			M.Sc-		4/11/199			H No 346	sonina	13140		ОВ	ORBC010	0809222	532350	79									080920400	ORBC0100
Boo!-	-	Chamar		1807		84000		village Pai			DAY	1		1003764			530	12	6360	800	7160	15840	23000	овс		809
Pooja	F	Chamar	-	1807	-	34000		Village	-								+	+=-	+	1						
								Jharoth					5			1				9 50						
								distt					1 x			75		1								
			MA						sonipa	13140			CBIN0280	2185529	748135									\	080920400	ORBC010
Aarti		Chamar		1421	8/7/1996	70000	Raj Kumar	. ,			DAY	1 1		685		04/07/16	530	10	5300	800	6160	11840	18000	ОВО		809
nai Li	I.	Cilainal	101-1	1747	0, 1, 1330	. 0000	,	,	- 1									1-3					20 4010			

142420 27200 169680 231320 401000

Principal Kanya

Award Roll for Post Matric Scholarship for SC Fresh Students for the Acedemic Year 2017-2018

of Institution ail Address cipal Mobile no.

KANYA MAHAVIDYALAY, KHARKHODA

kanyamahavidyalaya@yahoo.com, kmkharkhoda@gmail.com

9416974179

Nodal Officer

DR.(Mrs) Seemant, 9466515235

Designation

Associate Professor

No → 08092040002310

IFSC Coc ORBC0100809

Bank - OBC Brink, Kharkbrodg

																,		20.						
									12									Ma int		22		24 Nov		
									. %	13.							nan			22. Fee		24. Non refundabl		
	, 3. G							1		Boa							ce	an		Pai 2		e		
		4.								rdin	14			_1								Fee/fund	25. Total	
1.		Ca			8.						Bank		4.			10.	e		Mainte			s	amount	
	Applicant d		. 7.	. Date of			10.	11.			Nam	`		andance Account	17. Aadhaar	18. Date of		of	nance	Stu /	Amount	(Manage	of	
o. No.						9. Applic	a Address	District	ce	e	e	15. IFSC Code			Number		Mo	Mo	Allowan	den d	of the	ment	scholarsh	
			T	T		SHRI		. CAUDAY				13.11-50 0000	1	1		Admission		nth		t s	student	Share)	ĺp	,
1 R172414016129	LALITA F	SCB.A	1549320150 19			KRISHAN	SISANA	SONIPAT		DAY	The Personal Property lies	PUNB0312000	76	15495		2017-07-26	300	920	3000	0	2700	10060	1316	
2 R171646526515	POONAM F	SCB.AI	1549320091 19	997-11-14	60000	RANBIR	Gopaipur	SOIVER	1 30	(114)	CBI	CBI10280399	76	2185528194	971133040452	2017-07-18	300	10	3000	0	3=3800	10460	1980 THI 260 1	
3 R171653915099	SARITA F	SCB.AI	1549320089 19	95-09-16	60000	MUKESH	Matindu	SONIPAT	50	DAY	SHGB	GG550001252	77	77510100129889	501761737547	2017-07-18	300					-	13460	Juc
	DITH					241241	KHARKHODA	SONIPAT	1		1	- STATES	1					10	3000	0	3800	10460	14250	
		S C B.A I	1549320152 19		80000	and the second second second	ROHNA	SONIPAT	-	DAY	-	CBIN0280399	75.5		381147961224			20	3000	0	3800	10460	19160	
5 R171117484150	GUDDI / F	S C B.A I	1549320104 200	00-01-08	80000	NARESH	KOTIGA	30-1	1	1	UBC	ORB:0100809	TB	0809215108029	814180772792	2017-07-18	300	10	3000	0	3800	10460	1311- 14260	
				- 1							SYNOR													
6 R172492143749	NISHA F	S C B.A I	1549320178 199	96-07-04	90000	RAMBIR	THANA	SONEPAT	50	DAY	CATE	SYN00008191	76.5	81912210005886	441410513957	2017-08-16	300	10	3000	o	3800	10460	13460	
7 R17123529000	RINKU RANI F	SCBAI	1549320009 199	99-12-15	60000	BHOLA RAM	KHURD	SONIFAT	50	OAY	OBC	ORB 00100803	-	08092151022347	631555197712	2017.07.18	200			1			12460	
			1343320003133	33 12 13		-			-			ONB 10100803	17.5	00032231022347	031333137712	2017-07-18	300	10	3000	0	3800	10460	14250	
8 R172292054708	DEEPIKA F	S C B.A I	1549320123 200	00-01-10	60000	OGINDER	PEHLADPUR	SONIPAT	50	DAY	080	ORB 00100809	75	08092151014595	495290030558	2017-07-23	300	10	3000	0	3,800	10460	13110	
9 R172189801128	SAPNA F	S C B.A I	1549320160 199	98-05-01	50000	NARESH	KHARKHODA	SONIPAT	50	DAY	SBI	SBIND006875	78	33148530424	821335759196	12017.08.01	300							
		S C B.A I	1549320004 199		30000 5	-	RIDHAU	SONIPAT	50	DAY	581	58/14/0006875	82		203824113157		300	1	3000	0	3800	10460		
11 R172206676401 F		S C B.A I	1549320167 199		75000 R	THE RESERVE OF THE PERSON NAMED IN	MATINDU	SONIPAT	50	DAY	090	ORB 00100809	1	08092121023183			-		3000	-0	3800		13410 14260	
																	1	1-0	3000	-	2800	10460	1316 14260	
12 817/434456565	ISHA F	S C B.A I	1549320155 199	0 02 27	OS OOO R	AJENDER	KHARKHODA	SONIPAT	50	AV	BOB.	BARDOKHARKH	70	50130100003423	806076160294	2017 00 0		9	2)00	1			17110	
12/11/13/430303	JSHA F 3	SICIB.A I	1549320155 1996	18-02-27	9300018	DOC YOUR	HUMAYUNPU	30141121			000	BAKEUKHAKKH	1.7	50130100003423	808076160294	1 2017-08-01	300	16	3000	С	3800	10460	13160	
13 R172207166077 S	AKSH F S	C B.A	1549320130 1999	9-09-25	40000 R	AJESH	R	ROHTAK	50	DAY	PNB	PUNEC235700	794	57001502414700	266585150858	2017-07-23	300	100	3000	0	3800	10460	1316 24260	
				1	ĺ.	NAND				1														
14 R17R15498360 A	NNU F S	CBA	1549320011 1997	7-04-19	80000 SI		KHARKHODA	SONIPAT	50 0	AY	CBI	CBIN)280399	80	3621117876	442273646714	7017-07-18	300	10	3000		3000	1045	13460	
	/				1	1							80			1	1 30.	1 10	3000	- 3	3800	10460	14.60	
15 / 17 1590302709 SV	WEET F S	C B.A !	1549320098 2000	0-06-05	70000 R	AJENDER !	SILANA	SONIPAT	50 0	AY	PNB	PUNEC312000	79	20001500169620	707369319868	2017-07-18	300	10	3000	0	3800	1045	13460 1240	
15/R171591345197 AV	1 2	CBA	1549320010 1998	111.02	7000000	VI DAVAL	SILAN 5	SONIPAT	solr	AV	PNB	PUNNG312000	77	20001500169530	330020706308	2017.07.10	1 200	10	1000				17660 -	
			13-3320010 1330		, 0000					-			1-1	2. 001300103330	550020700308	17-07-18	1 300	10	3000	U	3800	1046	19:00	
rako resperse (m	F/5	CBA	1549320008 1998	-11-02	20000 DE	W. DAYAL S	LANA	SONIPAT	50 0	AY I	PNB	PUNN0312000	77	20001800169900	757751716731	11,70,18	500	10	3000	0	3800	1006	13460.	
	- /-		1549320040 1991		or notice	-0.0	ALLIGO III				arce	PUNIOHOROUS	01	76511900147443	darress.							Street, street, spiriter, married to and	Market - Change - C	
	1 13	10.4	13431200631,93	- 18-17	soon for			OU SAUN	2012		35 1	parators .	6.11	1001190014 447	97484511		30	1 1	300	51			13460	
																		7	52200		532	0	-	

		111												00	dance					52200	i			
	YOTI RANT F		BAI	1540220100	1005 11 20	100000	OMPARKAS H	KHURAMPUR	SONIPAT	50	DAY	SBI		ATC.	3547788357	704791803253	2017 00 00		9	2700				13160
71983271182	SUSMITA	FSC		1549320166 1549320086		70000		ROHNA	SONIPAT	50	_	SBI	SB/N0006875 SB/N0006875	76	37164350193	907106526599		300	-	3000	0		10460	0 13460
17112200000										-		ALLah	10006873	10									10400	1
171133896553	POONAM	FSC	B.A I	1549320106	1999-02-10	60000	RAJBIR AZAD	Badli	JHAJJAR			abad	ALLA0212352	79	59027569242	761799314642		300	10	3000	0	3800	10460	13460
R17681054104	PRIYA	FSC	B.A 1	154932005	1997-08-14	30000	SINGH	BARONA	SONIPAT	50	DAY	OBC	ORBC0100809	75	08092151020602	899642781217	2017-07-18	300	10	3000	0	3800	10460	13460
R171584789533	RENU	F S	B.A I	154932007	1 1998-09-16	25000	SURESH	MANDAURA,	SONIPAT	50	DAY	Allaha bad		80	50366596195	876960334597	2017-07-18	300	10	3000		7000	0.450	13410
R172465238446	PRIYANKA	FS	C B.A I		9 1999-12-10		SINGH	ROHNA	SONIPAT	50	DAY	ОВС	ALLA0210638	27	08092151017862	928749460337			,	300¢			10450	13160
R172190663324	POOJA		C B.A I		4 2000-02-06		JAGBIR	THANA	SONIPAT	50	DAY	One	ORECC100809	11	08092151022422	530308403409			1		0	3800 1	04601	
R171589361671			CIB.A I					THANA	SONIPAT		DAY	200	OARCC100809	81				300	- Dia	3000	0	3800 1	0460	13160
		-	CIB.A I	154932003	35 2000-02-01	1	RAJ						OR&C0100838		08092121001570	982161646159		300	10	3000	2	3800 1	0460	10000
R172560942079 R17225109834			C B.A I	15493201 15493200	88 1979-09-17 37 2000-02-06	_	KISHORE KRISHAN	KHANDA	SONIPAT	1	DAY	BOB	PUNB0668600	-	686000100036120 50130100000717	350144008883 589158525729	2017-08-30 / 2017-07-08	300	-	3000	-		0400	1206
9 R17433567956	ANITA RAN		C B.A I		53 1998-10-10	1	SUBHASH	KHANDA	SONIPAT	50	DAY	СВІ	BARBOKHARKE	77	2207925086	220235125184				3000	0 :	1800	0460 1	
		1						THANA	SONIPAT		DAY		CB/N0282115	7.6				300		3000	0 3	1800 1	3460	13460
0 R17158826899		F S	C B.A I	15493200	94 1999-06-19		RAMCHAN					OBC	OR\$C0100809	79		329729056376		300	10	3000	0 3	1800 1	0460	13410
1 R17164070321	/	FS	C B.A I	15493200	81 1998-01-20		O DER	GORAR	SONIPAT	T	DAY	PNB	PU/50312000	76	1500155209	908138614050		300	10	3000	0 3	1000 10	0460	
2 R17129764749		FS	C B.A I	-	84 1999-08-17 80 1998-07-09	-	O RAJESH	GORAR	SONIPAT	-	DAY	OBC	OR (C0100809	ASSESSMENT OF THE PERSON NAMED IN	08092151016858 120001700045930	417741783037 965918336346		300 300	10	3000	-		0460	13460
4 R17573892038	-		C B.A I	-	57 1999-06-30	10000	OSCKHBIR	BARONA	SONIPAT	-	DAY	ОВС	PU%80312000 OR\$C0100809	75	08092151021449	364396082474		300	10	3000	-		0460 1	
35 R17116950392	24 SAKSHI	FS	C B.A I	15493201	07 1999-05-25		ASHOK 0 KUMAR	FARMANA	SONIPAT	50	DAY	SBI	SBI#0003413	82	34047936215	711829422282	7017-07-12	300	10	3000			130460	
36 R17228593808	88 VARSHA	FS	C B.A I	15493201	32 1996-12-07	7200	0 NATTHU	KHARKHODA	SONIPAT	50	DAY	CBI	CB(12) 290395	70	2185539309	933535581208	2017-07-21	300	So	3000				3160
		\top						T T T T T T T T T T T T T T T T T T T														1	7400	
37 R17236848313	37 RAKHI	FS	C B.A I	15493201	62 1995-02-02	5000	O RAMEHER	KHARKHODA	SONIPAT	50	YAC	PNB	PU#80668500	77	6886001500000500	734535483716	2017-08-01	300	10	2700	0 3	1809 10	0460	13164
	LINETA (2500	SHANURA	BADU	JHAJJAR	6	DAY	Allaha	AUTOMAN	_	50027560275	813400636360	217 07 20		9	2700			,	13160
38 R1722257712	31 ANITA	1	C B.A I	15493201	56 1999-08-22	9600	Um	1	100000	1~	1	1	ALLA0212352	76	59027569275	813409676269	2017-97-28	300	20	3000	0	1000 1	0460	د
39 R17180340743	30 KOMAL	FS	C B.A I	15493200	03 1998-12-12	6000	O SUSHIL	BADLI	JHAJJAR	50	DAY	Allaha		77	59027569300	427488025272	2017-07-08	300	10	3000	0 3	1809	0460	104
40 R17236915909	91 SEEMA	FS	C B.A I	15493201	35 2000-02-02	5000	RAM O PRASAD	NILOTHI	SHALLAR	50	YAC	OBC	OR800100245	75	02452121014493	682556825237	2017-07-21	300	5	2) 00 3000	0 3	1800 1	0450	13110
41 R17989926942		FS	C B.A I	15493200	25 2001-08-29	5000	0 HARNAM JAGMEND	PAI	SONIPAT	50	YAC	ОВС	OREC0106809	75	08092121006957	255677607997	2017-07-08	300	10	3000	-	-	0460	
42 R17178199979	95 SHARDA	FS	C B.Com-I	15494200	14 2000-03-10	3000	1	MATINDU	SONIPAT	50	CAY	OBC	DRIC0100809	76	08092151008457	323278457962	2017-07-18	300	10	3000	0	1 0038	0.150	1360
43 R17276813338		fs	c B.Com-I	15494200	40 1999-09-05	12000	_	R GARHI SISANI	SONIPAT	50	day	pnb	PunB0312000	į.	3120001500158230	293051247654	2017-07-07		10	3000	0		34hC	
44 R17197525564	46 KAJAL	FS	C B.Com-I	15494200	19 1999-02-26	5000	RANBIR 0 SINGH	MATINDU	SONIPAT	50	[AY	овс	OREC0100803	74.	08092151006897	594010582469	2017-07-18	300	10	3000	0	38004 1	0460	nor.
							SHASHI																	1366
45 R1710196142	09 SONAM	F 5	C B.Com-I	15494200	10 2002-08-18	5000	BHUSHAN	KHARKHODA	SONIPAT	50	DAY	PNB	PUNB0668600	80	6686001500 0009 60	558832206044	2017-07-18	300	10	ACTION OF THE PERSON NAMED IN	G	1	GASC.	-
46 81711922594	94 SHIKHA	F 5	C 8.Com-l	15494200	1999-07-06	8200	BUENDER	1	SONIPAT	50	DAY	SBI	SBI110006875	82	36957-(30609)	832904264862	2017-07-26	300	34	3000	0		OAL T	1318
47 81793337563	8 MANISHA	F 5	C 8.Com-I	15494200	11 2000-05-11	7000	DEVANAN	SISANA	SONIPAT	50	DAY	PNB	PUNE0312000	8.3	120001700048550	988189876458	7017-07-18	A CHARLES	10	NAME OF TAXABLE PARTY.	0	3470		1360
45 41/21/33032	SO MEENU	1 3	C B Control	15494200	12 1998-07-28	5500	HARIOM	GOPALPUR	SUNIFAI	50	DAY	(B)	CB140780333	87	\$19224875A	804690012376	101-01-44	300	مرا	Sales And	- 4	St	A.	lle,
49 81738158772	and the second second second second	enirialem indica	C BCA-I	154952001	4 1994-09-01	5000	RAJENDER	KHARKHODA	SOMIPAT	1		Acceptance of the last	SBIN0050136	75	65245289649	64,1 8 192,116	1011-07-18	330	10	800			45	
90 2172275191	O7 SOMM	1 19	C 8CA-1	1\$4952000	7 1999-10-12	3000	JAIPAL	GORAR	SONIPAT	50	SAP.	PNB	PUA-03120.0	12	120001500154620	81.765710712	21/0/ 3	1 1900	3	3.30	-	1		

Totter

3		010 01	
		Affendance	144600
+ 07-674903830 AKANKSHA- F SIC BCA-1 3549520044 2000-05-15	SH SHUNIL HASSANGARH ROHTAK 50 DAY SBI SBI	4 76 65035495035 231586882191	2017-07 23 300 10 3000 0 3000 12200 14900
1549520044 2000-05-15	ANAND SHINOSOIS		
73114192 ANJALI F S C BCA-1 1549520016 2000-05-05	BOODD SINGH KHARKHODA SONIPAT 50 DAY CBI CBINO2803	9 77 362117067 509871622938	2017 07 18 300 10 3000 0 3800 12200 16000
A172289907976 SHILPA F S C BCA-1 1549520052 2000 01-29	TARREST PHARMER FARMANA SONIPAT 50 DAY SBI	35229926498 386072404374	2017-08-10 300 910 23000 0 3800 12200 140000
	100000	3185540814 396983253504	
The same of the sa	170000 RAINBIR CBIN02803	19 100000000000000000000000000000000000	2017 07 07
55 R1768548786 ANNU F SIC BCA-1 1549520022 1999-02-18	50000 JAIPAL CHOLKA SONIPAT 50 DAY SBI SE-MODO68	5	0
56 R1724E74999E5 RITU F SC M.4-1H 1549620020 1991-05-10	70000 KRISHAN KHARKHODA SONIPAT 50 DAY PNB PUNB06689	00 80 686000100044890 342079785758	2017-08-01 530 10 5300 0 5100 7900 7900
	SHRI		3 400 1800
57 R172399645717 NISHA F SC M.A-1G 1549720010 1992-04-03	MACCOC BHAGWAN ROHNA SONIPAT 50 DAY OBC OFBC01008	09 76 08092191063676 319268830348	2017-07-27 530 10 5300 0 6100 13900 20000
	SONIPAT 50 DAY SRI	32477939563 826958072715	2017 07 27 000 9 1070
58 R172174625224 USHA F SC M.A-1G 1549720008 1995-03-20	IAZAD	5 11	
59 R171382805337 JYOTI F SC CTHM-1 1669020017 1995-09-06	168000 SINGH KHARKHODA SONIPAT 50 DAY SBI SE N00068	5 75 30904980513 353385085714	2017-07-18 300 10 3000 0 3800 16160 1916 0
60 R17905417320 SEEMA F S C CTHM-1 1669020018 1999-08-10	PREM JHAROTH SONIPAT 50 DAY CBI CB NO2803	9 83 2185536375 - 545634215229	
60 R17905417320 SEEMA F S C CTHM-1 1669020018 1999-08-10	THANA	18.07	2017 1
61 R171566924031 RITU RAN F S C CTHM-1 1669020007 1999-08-16	40000 JITENDER KHURD SONIPAT 50 DAY OBC ORBC01008	09 85 08092151022385 650085971630	10 300 10 3000 0 3950 16150 19950
62 R171663635289 RANI F SC CTHM-1 1669020004 1994-06-15	25000 RAMNIWAS KHARKHODA SONIPAT 50 DAY OBC ORECO1008	09 83 08092191063614 955321735470	2017-07-08 300 10 3000 0 3500 16160 1965
63 R171070037873 ANJU RANI F SC CTHM-1 1669020014 1999-11-02	50000 DALIP SINGH SILANA SONIPAT 50 DAY PNB PUNB03120	00 75 3120001500170680 316877158384	2017-07-08 300 10 3000 0 3300 16160 19160 2950
64 R171070088486 ANNU F S C CTHM-1 1669020012 1994-08-15	50000 DALIP SINGH SILANA SONIPAT 50 DAY PNB PUNEC3120		3000 0 3000 10160 1717 13850
65 R17587468407 KOMAL F S C CTHM-1 1669020003 1998-03-05	40000 MAHAVIR SI SOHTI SONIPAT 50 DAY PNB PUNB0668	752858001500066740 356016910147	2017-07-08 300 10 3000 0 2200 16160 1916 22050
	SHREE		
66 R171624059884 KIRAN F S C CTHM-1 1669020013 1999-10-22	50000 BHAGWAN GORAR SONIPAT 50 DAY PNB PUNB03120	00 77 1500154574 321851865018	2017-07-08 300 10 3000 0 3990 16160 19160
67 R171941366059 VANDAN& F S C CTHM-1 1669020021 2001-02-19	100000 JAI SINGH PAI SONIPAT 50 DAY OBC ORSC01008	09 75 08092121014426 238433548456	2017-07-08 300 10 3000 0 3800 16160 1916
68 R172187358340 KUSUM F S C CTHM-1 1669020027 1996-10-12	72000 JAIPAL FARMANA SONIPAT 50 DAY BOB BARBOKHA	713549412766	2017-07-22 300 120 270 3000 0 3800 16160 1860 19950
69 R17928243440 KOMAL F S C CTHM-1 1669020019 2000-07-29	15000 KRISHAN JHARROT SONIPAT 50 DAY CBI CBIN02803	99 75 2185531923 628083263662	2017-07-08 300 10 3000 0 3890 16160 1916 19960
	NARAYAN		15161
70 R17364347179 PREFT F S C CTHM-1 1669020011 2000-08-13	50000 SINGH KHARKHODA SONIPAT 50 DAY CBI CBIN02803	99 84 3249924825 608613401422	2017-07-03 300 10 3000 0 3800 16150 19350
TO THE STATE OF TH	SURENDER 30000 SINGH MATINDU SONIPAT 50 DAY OBC OR3C01008	09 79 08092151008426 578310293266	2017-07-08 300 10 3000 0 3800 15160 15160 15160
71 R171546154804 PINKI F S C CTHM-1 1669020010 1999-12-16	BALRAJ		
72 R172462429865 BEETU RANI F S C SNPT-1 1669120034 1994-09-15	25000 SINGH KHANDA SONIPAT 50 DAY OBC 099C01008		21200 0, 3600 21200 25000
73 R172187621380 NEHA F s c SNPT-1 1669120031 1999-05-25	200000 SURESH KUN BAKHETA ROHTAK 50 JAY PNB PUB0235 40000 RISHIKESH KHARKHODA SONIPAT 50 JAY CBI CBIN02803	110	7200 77 2000
74 R171219908844 BHARTI F S C SNPT-1 1669120011 2000-05-04	SHIV		24200
75 R171184159920 RAUN F S C SNPT-1 1669120025 1999-06-10	40000 NARAYAN KHARKHODA SONIPAT 50 DAY CBI CBINO2803	9 74.5 2185530497 987059862832	2017-07-18 300 10 3000 0 3 800 21200 25000
76 R171756517692 SWEETV F S C SNPT-1 1669120002 2000-05-24		25 82 35144422941 294144018757	2017-07-18 300 10 3000 0 3800 21200 25000
77 R17831838631 SUNITA/ F SIC SNPT-1 1669120014 1997-03-05	80000 DILBHAG KHANDA SONIPAT 50 DAY CBI CBIN02821	18 78 2207892763 425193773313	2017-07-18 300 10 3000 0 3800 21200 בפייוער
78 R17942796572 NEHA/ F S C SNPT-1 1669120015 1998-08-30	60000 BIJENDER CHOLKA SONIPAT 50 DAY SBI SBI 00068		2000
79 R1794S222455 ANJALI F S C SNPT-1 1669120013 1997-06-10	90000 ROHTAS CHOLKA SONIPAT 50 DAY CBI CB, NO2821	18 85 2207927130 820512078144	
80 R172187134007 KUMARI F SC SNPT-1 1669120028 1998-07-04	50000 NARESH KHANDA SONIPAT 50 DAY CBI CB (02821	8 76 3477816195 467803393018	2017-07-22 300 10 13600 0 3800 21200 23900
	MUKESH	00 000001010000000000000000000000000000	2017 07 71 200 \$0 2700000 0 270000
81 R172466496412 PREETI F S.C. SNPT-1 1569120033 2000-04-25	50000 KUMAR PIPLI SONIPAT 50 DAY OBC ORICUSOUS	09 85 08092121002607 616169385569	2017-07-31 300 10 3008 0 2007 21200 22100 22100 22100 22100 22100 22100 22100 221000 22100 22100 22100 22100 22100 22100 22100 22100 22100 22100 22100 22100 22100 22100 22100 22100 22100 22100 221000 221000 221000 22100 221000 221000 221000 221000 221000 221000 221000 2210000
82 R1724141598a7 PARMILA F SC YOG4 1872520031 1992-05-12	32000 NIWAS PIRT SONIPAT 50 DAY SBI SBIN00068	5 75 31505605800 207338903467	
	90000 RAUSINGH LAKHOLI SONIPAT SO LIAY UCO UCIA00005	87 76 09820110024799 896951159019	2217-07-26 530 10 3200 (5:0) 4200 3
33/07/15/57/67/29. -Fire and	(KRIS-AN)		244
ESTREMENT OF THE SECOND SECOND SECONDS	REARKEDON SOSIPAT ST - V CBI CENTO2803	9 78 2181529039 652594967660	has provide the control of the contr
			. 1880

Award Roll for Post Matric Scholarship for SC Renewal Students for the Acedemic Year 2017-2018

f Institution vail Address ' Mobile no. KANYA MAHAVIDYALAY, KHARKHODA

kanyamahavidyalaya@yahoo.com, kmkharkhoda@gmail.com

9416974179

DR.(Mrs) Seemant, 9466515235

Designation College Account No. 08092040002310

Nodal Officer

Associate Professor

IFSC ORBC0100809

		08092040002	310			1130	DIEDEOLOGI	003												Mai	Ma		22.		24 Non	
																				nten			Fee		24. Non	
			3.										13.							anc			Pai	22	refundab	
			G	ì								12.	Boa						1						le	
			е	!				8.				% of		14.					18. Date			21. Total				
			n	1				Annua					ng						of			Mainten ance	-		5	25. Total
	1			4.		6.			Applican	40	11.	nda	Тур	Nam	15. IFSC			17 Andhaar	Admissio	•			Stu	Amount		amount of
	Sn F	Registration	Applicant e				7. Date of	Incom		10.	District				c- i	do		17. Aadhaar	n						ment	scholarshi
	o. I	No.	Name r	ste	Class	No.	Birth	е	1401110	Address	District	T	П			Hen	dance Number	Number	1"	In	er	ce	<u> </u>	Student	Share)	р
			NIDHI F	-	B.A II	673	1998-04-06	1	BHIM SINGH	SISANA	SONIPAT	50	DAY	PNB	PUNB0312000	75	216929476041	216929476041	2017-07-04	300	12	3600	0	3600	7900	11500
-	-	1172710270000	REKHA VI	-	B_A II	-	1998-05-05	-		SISANA	SONIPAT	50	DAY	PNB	PUNB0312000		3120001500157580	405806794960	2017-07-05	300	12	3600	0	3600	7900	1
1	2	R172710915174	KEKHA O	- ISC	B.A II	1 6//	1338-03-03	1	-				DAY	OBC		13	7120001300									
	3	R172716028595	INDU 1	F SC	B.A II	951	1996-08-07	80000		KHARKHODA	SONIPAT	30	DAT	OBC	ORBC0100809	76	08092191051666	896082523323	2017-07-07	300	12	3600	0	3600	7900	11500
			/			670	1000 07 30	84000	RAMNIWA	PEHLADPUR KIROLI,	SONIPAT	50	DAY	SBI	SBIN0006875	75	34145909609	848421219674	2017-07-04	300	12	3600	0	3600	7900	11500
	4	R172716257417	SHIKSHA	FISC	B.A !I	6/9	1999-07-20	84000	7 311	PEHLADPUR			l DAY	CDI	CDIMAGE	2	3414336366									
	5	R172716373423	REETU /	F SC	B.A II	678	1999-11-25	84000	ROHTASH	KIROLI,	SONIPAT	50	DAY	281	SBIN0006875	76	34078554989	805458100032	2017-07-04	300	12	3600	0	3600	7900	11500
		R172716495308	PAYAL	F SC	B.A II	707	7 1998-08-10	80000	PAPPU	PEHLADPUR KIROLI	SONIPAT	50	DAY	ОВС	ORBC0100809	77	18652282001686	692791229966	2017-07,-05	300	12	3600	0	3600	7900	11500
		R172716637514	SONAM	F SC	B.A II	659	9 1997-04-28	80000	0 ROHTASH	KHARKHODA	SONIPAT	50	DAY	СВІ	CBIN0280399	74.5	2185537244	871811562419	2017-07-06	300	12	3600	0	3600	7900	11500
	l	117271003732							SARDAR	SISANA	SONIPAT	50	DAY	PNB	PUNB0312000	h	B120001500155110	598918747260	2017-07-06	300	12	3600		3600	7900	11500
	8	R172716713941	ANJALI 🗸	-	B.A II		5 1999-11-20	+	0 SINGH	FARMANA	SONIPAT	50	DAY	SBI	SBIN0003413	19.5	34129500948			300	12		-	3600	7900	
	9	R172716802825	ANJALI	F SC	B.A II	65	4 1998-03-04	12000	0 BIJENDER	FAMINAINA	1					117	34123300340	70312313332	12027 07 05	300	12	3000	- 4	3000	7300	11500
	10	R172716905240	SANEH LATA	F SC	B.A II	65	5 2000-03-15	12000	DILBAG	FARMANA	SONIPAT	51	DAY	SBI	SBIN0003413	76	34027442696	832404610581	2017-07-04	300	12	3600	0	3600	7900	11500
						67	5 4002 11 00	7200	OMPARKAS	GARHI SISANA	SONIPAT	5	DAY	PNB	PUNB0312000	7-	B120000100148810	621881480311	2017-07-07	300	12	3600	0	3600	7900	11500
	11	R172716975643	ITOYL	IF ISO	B.A II	1 67	6 1993-11-09	7200	PHOOL							T										
	12	R172717805800	ANJALI	F S	C B.A II	71	7 1999-06-01	20000	00 KAWAR	FARMANA	SONIPAT	_	DAY	-	SBIN0006875	75			 	300	-		-	3600	7900	
_	-	R172717819904	MAMTA -	F S	C B.A II	. 71	6 1999-11-24	7500	00 NARESH	FARMANA	SONIPAT	- 5	DAY	SBI	SBIN0006875	75	34001027554	303691338330	2017-07-07	300	12	3600	0	3600	7900	11500
		R172717883518		E S	C B.A II	70	0 1992-11-24	4 8000	GULAB 00 SINGH	KUNDAL	SONIPAT	5	DAY	SBI	SBIN0006875	76	20239623210	278227329938	8 2017-07-06	300	12	3600	0	3600	7900	11500
	14	H1/2/1/883318	INAST IVII 1	1		1			ANIL	5.00.44NIA	SONIPAT	_	0 DAY	SRI	SBIN0006875	L	36119539678	666369871095	5 2017-07-06	300	12	3600		3600	7900	11500
	15	R172718068738	URVASHI	F S	C B.A II	65	3 1999-08-0	1 8200	ANIL	FARMANA	SUNIPAT	+-3	T T	1501	351110000073	16	30113333075	00030307103	7,2017 07 00	1 300	12	3000	"	3000	7500	11300
	10	R172718099476	UMA	FS	C B.A I	65	2 2000-09-04	4 8200	KUMAR	FARMANA	SONIPAT	5	0 DAY	SBI	SBIN0006875	75	36119541032	87644852952	2 2017-07-03	300	12	3600	0	3600	7900	11500
	1	1/12/2/180354/0																								
			/	11	T T A II	co.	1996-09-20	g 7200	CHIMANU	KHARKHODA	SONIPAT	5	0 DAY	СВІ	CBIN0280399	75	2185534163	286841359399	2017-07-05	300	12	3600	0	3600	7900	11500
	T	HOTO LUEVOVE	KIRAN	IF IS	C BAI	98	811390-09-20	u /200	RAMKARA							1										
1	1	ERT BANKERA	Sa Norate	5 5	EAT	ु प्र	15 1999-01-13	5 14000	30 M	FARMANA	SONIPAT	-	ODAY	-	SBIN0003413	177	4		-	300	-	-	0	3600		1
1	-	98072731144244		7	EA I		7 2957-06-3	a 9000	DALSIR	FARIMANIA	SOMPAT	5	ODAY	PNB	PUNB0065500	175	0856001501119115	482275468089	2017-07-11	300	12	3600	0	3500	8000	11500
		4						en spronte	SHRI ODIKRSHAN	GORAR	SOMBAT	1	DAY	SMB	PUNB0312000	76	845235620721	34523562072	1 2017-07-07	300	12	3500	0	3600	8000	11500
		UP-71711194811					2399-42-C		DENAS-AN	-	SOME				CESVNB0009656			82458751732	7 2017-07-11	300	12	3600	0	360:	8008	12500
	1	IN THE STATE	HOLEN SIME	1 5	al Ha		11 2998-12-2	7001	300	- Childry No.	-			-	1	The same				0.00		3500		200		1600
			- P					500	or one se	\$				PNS	PUNE 0135700	01	20570035411725	34563469936	3 2017-61-67	300	12	3600	1 0	3600	8006	11 22007

															li.	1-18	1								
45280	TARAWATI	16	sc	B.A III	982	1998-01-20	90000	GULAB SINGH	KHARKHODA	SONIPAT	50	DAY	SBI	SBIN0006875	11101	ance	492930339212	2017-07-12	300	12	3600	0	3600	8000	1
)			ВНООР	GARHI SISANA	SONIPAT	50	DAY		PUNB0312000	12	492930339212			300	12	3600	0	3600	8000	1
212110120	SONIA 2	_		B.A III		1995-11-11	90000			SONIPAT	50	DAY	PINB	PUNBOO6SEC	83	3120001500151520	597060752059 2 699230946637 2		300	-	3600	0	3600	8000	1
0%47 A00 400 A	ASHA L			B.A III		1995-05-05	-	ROHTASH	1412.111	SONIPAT	50	DAY	SBI	SBIN0006875	75	0656000101152533	456162056928		_	12	3600	0	3600	8000	1
12718002354	ANNU	F	SC	B.A III	942	1993-04-02		MANGAT	SICATOR					130/5	8.3	32553434135	456162036928	2017-07-03	300		3000	+			
72719067432	RITU RANI	1-	SC	B.A III	1000	1997-04-04	80000	RAM	BIDHLAN	SONIPAT	50	DAY	PNB	PUNB0065600	76	0656000101179239	971740092067	2017-07-06	300	12	3600	0	3600	8000	1
172719113631		1 .	P	2 X	1011	1996-06-10	120000	UPENDER BHAGAT	KHARKHODA	SONIPAT	50	DAY	PNB	PUNB0668600		5686000100055270	878362804208	2017-07-06	300	12	3600	0	3600	8000	
		1			0.00	1997-11-08	72000	RAIPAL	KHARKHODA	SONIPAT	50	DAY	1	SBIN0006875	82		410000717605	2017-07-07	300	12	3600	0	3600	8000	
72726303183	1	+	SC	B.A (II)				SURESH	KHARKHODA	SONIPAT	50	DAY	l	HD+C0002939		1	274902902175	2017-07-05	300	12	3600	0	3600	8000	
172743863579	MAMTA	F	SC	B.A III	994	1998-03-15		PARVEEN		SONIPAT	1	DAY		SBIN0006875	80	Seate	591783739345		300	12	3600		3600	9600	
172720215367	DIVYA	F	sc	B.Com-II	213	3 1998-01-23	150000	KUMAR	KHARKHODA	SOMIFAT				10006875	8 2	34065392750	591/85/39343	2017-07-03	300		3600	+	3000		
* a:	2000	-		B Com I	1 22	3 1998-12-02	80000	KULDEEP	KHARKHODA	SONIPAT	50	DAY	HDFC	HDFC0002939	80	50100153058230	573905690453	2017-07-05	300	12	3600	0	3600	9600	
172720311436	PATAL	-	130	B.CC:11-1	1 24	31336-12-02	00000	DALBIR												1	İ		×		
* R172727674743	RITU	F	SC	B.A.H	22	1 1997-11-05	70000	SINGH	KHARKHODA	SONIPAT	50	DAY	CBI	CBIN0280399	75	2373878216	975812718515	2017-07-07	300	12	3600	0	3600	7900	-
172720395835		F	SC	B.Com-	21	8 1997-10-07	96000	KUMAR	KHARKHODA	SONIPAT	50	DAY	Canara	CNRB0002047	79	3528101001412	223373933523	2017-07-05	300	12	3600	0	3600	9600	
		-	+	3.Com-	1	0 1999-01-20	60000	RAMESH	BAKHETA	ROHTAK	50	DAY	PNB	PUNB0235700	7	2357001503416350	798424763392	2017-07-04	300	12	3600	0	3600	9600	
R172727893686		1				9 1999 02-14	60000	RAMKUWA R	BAKHETA	ROHTAK	50	DAY	PNS	PUNB0235.700	7.	357001503416210	844820416624	2017-07-04	300	12	3600	0	3600	9600	
R172728026292		-	SC		1 20	0.	72000		KHANDA	SONIPAT	50	DAY			74		303795962887	2017-07-05	300	12	3600	0	3600	9600	
172728297023		- IF	SC	B.Com-		2 1995-03-21		ASHOK	FEROZPUR	SONIPAT	50	DAY	OBC	ORBC0101474	9	1	989441145062	2017-07-05	300	12	3600	0	3600	9600	
1172734993244	PRIYANKA	A F	SC	B.Com-	32	3 1998-09-07	1	NEPAL		JHALIAR	5/0	DAY		538/NOXX6875		-	269670424226	2017-07-04	300	12	3600	0	3600	9600	
172740831538	VANDANA	ALF	SC	111		6 1997-08-11	The same of the last owners of the last owners of the last owners of the last owners of the last owners of the last owners of the last owners of the last owners ow	SINGH	PAI	SONIPAT	Constitution of the last	DAY	MADE OF THE PARTY NAMED IN	ONSCI100801	80	35150229402 08092121006735	982188036625	and the second second second	300	12	3600	0	3600	11600	
172761477301	MONIKA	YF.	SC	BCA-II	161	9 2000-12-17	50000	MUKESH	PAI	30.					125	10000									
172752102452	AARTI V	F	SC	M.A-geo	1	1996-07-08	76000	RAJ KUMAR	JHAROTH	SONIPAT	50	DAY	CN/	CBINCINCING	79	2185529685	748135044684	2017-07-07	530	12	6360	0	6360	6840	
72715651442	1		SC	M.Com	19	1 1995-05-10	80000	BUOHRAJ	SADPUR	SONIPAT	540	DAY	OBC	06900101474	178	11742191031397	736744193656	2017-07-04	530	12	6360	0	6360	10840	
72752041573		F	sc	M.Com	17	1995-01-23	90000	RAJ KUMAR	KHARKHODA	SONIPAT	50	DAY	SBI	\$81N0006875	Q	32795021675	918924776528	2017-07-05	530	12	6360	D	6360	10840	
	T .	1.		CTHM-		1999-04-01		KARMVIR	PAI	SONIPAT	50	OAY	080	ORBC0101865	75	118401613178	418401613128	2017-07-07	300	12	3600	0	3600	15560	
72714335253		T		CTHM-				NAPHE SINGH	GOPALPUR	SONIPAT		DAY		Samonosans.	8		976212343925	2017-07-05	300	12	3600	0	3600	15560	
2711972344	PINKI DEVI	-	SC	11	2018	1990-07-21	80000	3/10/1							0		A								
		1	- 1	B Voc(S				RAMESH				Total Control	200.5	ORBC0105148	8.1	140675082996	390675082996	2017-07-06	300	12	3600		3600	25600	
72711868288	V ITOYL	F	SC 1	NPT)-II	4005	1998-03-30	96000	KUMAR	SONIPAT.	SONIPAT	50	DAY	196	CHIRCUSUS 148	1	390675082996	3900/3062990	2017-07-06	300	1 11	3600	-	3000	2.3000	-

